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1 FEERR

(DsFILEBEREK
7. B8

(2)sFIUX
7. HH

(DERET
7. B8

L =15 215 it |RIEXE| 8
6 A 0 1 75 76 -7 512
A5t 2 4 405 411 -16 3014
AIEXTEE|  +0 -2 -14 -16 -18
L =15 215 it |BITEXEE
6 A 0 1 85 86 -12
A&t 2 4 466 472 -19
BIEXTE| o0 -2 -17 -19
L =15 215 it |RIEXE| 8
6 A 0 1 47 48 -12 363
A5t 2 2 283 287 -20 2070
BIEXE| +1 -3 -18 -20 +53
L =15 215 it |EITEXEE
6 A 0 1 51 52 -15
A5t 2 2 320 324 -23
BIEXT| +1 -3 -21 -23
L =15 215 it |RIEXE| 8
6 A 0 0 28 28 +5 149
A&t 0 2 122 124 +4 944
BT -1 +1 +4 +4 -71
L =15 215 it |EITEXEE
6 A 0 0 34 34 +3
A&t 0 2 146 148 +4
AT %t EE -1 +1 +4 +4




